Find the cube root of 2744.
(A) 25 (B) 9

(C) 8 (D) 14
(E) Not attempted

Bl

&;\‘ \ v
@. !El

The Tangri river begins its journey at
: in Haryana.

(B) Aravalli hills
(D) Ambala

(A) Kalka
(C) Chandigarh
(E) Not attempted

Complete the following analogy.
Vitamin A : Retinol :: Vitamin C :
(B) Calciterol

(A) Tocopherol
(C) Ascorbic acid (D) Niacin
(E) Not attempted

Find the smallest number that must
be added to 1780 to make it a perfect
square.
(A) 36
(C) 69
(E) Not attempted

(B) 64
(D) 81

The Central Investigation Department
(CID) training school of Haryana is
located at

(A) Zirakpur

(B) Panchkula
(C) Chandigarh
(D) Gurugram
(E) Not attempted

The water accumulated under the
ground surface is called

(A) Ground water (B) Well
(C) Spring (D) Canal

HSSC CET Group 57 Question Paper 6 Aug 2023

(E) Not attempted
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1. 2744 %1 TR T AN | WY,

e
(A) 25 B9 & W 8
©) 8 4p) 14 \g\%@* %&‘\ {
(®) Qe R
w8 7 .
(A) HTTH (B) ITTEeh RISt
HC) T (D) 3eTen
(E) 3Tt
3. Prfifaa geedal @ o T |
fyeifie w : WeAter o frerfm s
(A) BB (B) Shfvagrel
() TerTe Tfs (D) T
E) TSR
) Lga-
4. w5 w O G @ FIRT AR 1780
7 SeY W 98 Th Ui 9 & ST | \5%
(A) 36 B 64 B
-{e) 69 (D) 81 :%4
(E) SmEfa %\}

5. BRI Yoo SARRH feurdiie @enssh)
TR faee_ AfRER |
(A) STERTT
(B) TEHT
P57 (C) =g
s (D) TSI
(E) 3Tt

6. HH 6 Fag & = S qrt |
gl 9T B |
(A) ST
(C) &

(E) 3RnR

(B) F3t
(D) &




% CG - CH23
7. is a footstool that features | 7. T IR o e fafE o
a seat made of intertwined strands of 3tk A 3 gt = anod # TUe T Hie
thread in various colors and patterns. T S R |
(C) Jutti (D) Peedha (C) wiE (D) et
(E) Not attempted (E) STrnfea
8. Mixing of unwanted substances with 8. smifsqugdmuiAfeme____
water is called g1 I 2 |
(A) Nuclear pollution' (A) 9THTY] qEHIT
(B) Sound pollution (B) &+ SgTw
(C) Soil pollution (C) 9ol JeuUI
(D) Water pollution tﬁ\% * (D) SieT 9guIT
(E) Not attempted . OpEEs (E) TR
. Rural Infrastructure Development Fund | 9. & S5t Sa@THC FS (STRATSEITF)
(RIDF) was established in £ 9T o E—g off |
(A) 1995-1998 (A) 1995-1998
(B) 1995-1996 (B) 1995-1996
(C) 1992-1993 (C) 1992-1993
(D) 1992-1996 (D) 1992-1996
(E) Not attempted (E) TSR
10. Find ;he average of first-4Q.natural 10. SIM 40 WK SIS 3fd [ ﬁﬁg |
numopers. —~—— A 5.
(A) 25.5 (B) 21 5 et () 25.5 (B) 21.5 n< \7
(C) 20.5 (D) 24.5 et (C) 20.5 (D) 24.5 \
(E) Not attempted (E) SR 2° p
. o3
11. ThisprominentHindiwriterofHaryana | 11. gRamn 3 f&ha yq@ f&d oas 3 @i wom
had compared the acts of Lord Curzon ¥ ST I SEL arfet s A i oft ?
2 with Nadir Shahi @) Tl '
(A) Hali " " ) wel-
(B) Lala Lajpat Rai (B) TG ST Tl
i (C) Bal Mukund Gupta € W TP T
i (D) Pandit Nekiram (D) dfa Fehrm
2 (E) Not attempted (E) s
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12. Hmﬁﬁmmm’_—ﬁ%

12. Pradhan Mantri Jan Dhan Yojana was
launched on & T8 ot |
(A) 28™ August 2014 (A) 28 T 2014
(B) 28" August 2016 (B) 28 3TT&l 2016
(C) 28" November 2016 (C) 28 &R 2016
(D) 28" November 2014 (D) 28 T 2014
(E) Not attempted (E) TR
13. Masani dam of Haryana is built across 13. ghEmm % WM Frferiiaa o 4 form
which among the following rivers ? TR WA TR ?
(A) Sahibi | (A) Tt )
(B) Yamuna 4 (B) IgT
(C) Krishnavati <{C) FumTert
(D) Tangri (D) emd
(E) Not attempted (E) T9ida
14. Full forfn of NDC g?%l 14. TEE 1 Qo w9 8
(A) National Directory College [ (A) AT SRR i
(B) National Defence Course (B) et fetha wid
(C) National Defence College (C) Fwer fedyg EaTu
(D) National Directory Coast (D) N TRREFE T
(E) Not attempted (E) 3Tt
15. Find the square root of 147 1471360
q root of 14713609. 15. 1@@@9@31{1@%% |
(A) 1412 (B) 1213 © (A) 1412 (B) 1213
C) 1312
(C) (D) 1413 (C) 1312 (D) 1413
(E) Not attempted (B TR
16. The Forests Department of H :
X aryana 16. i@ EHE[@ ; ﬁmi% R ¢
runs which among the following w1 ‘ o i i
breeding centres in Kurukshetra q fﬁ?—‘éﬂ TS g, el g7 ‘
district ? (A) HeR For g B
(A) Pheasant Breeding Centre obn) . rie =N '
(B) Peacock and Chinkara Breeding g,ﬁ (B) HR LERTEa N SS9 Q‘Tg”PM K
Centre - . : :
(C) Chlnkara Breedfng Centre (C) %ﬁ - ,@/l \ ¥
(D) Crocodile Brededlng Centre ~(D) ART=3 Yoa g ~ \\i\\g
E) Not attempte : 29
(E) (E) 3w V%%
. " \6‘1’\9;70(
T &% el ity 130
. <
Ak Wi
| 3~ \
L LSEI S



17. The difference of 2 pnumbers is 11

and one-fifth of their sum is 9. Find
the numbers.

(A) 28 and 16
(B) 28 and 17
(C) 25 and 17
(D) 26 and 17
(E) Not attempted

18. What is virtual memory ?

(A) The process of dividing physical
memory into small blocks

(B) The process of compressing mefndfy
to save space

(C) The process of simulating more
memory than is physically available

(D) All of the above

(E) Not attempted

Which function is used to read a
character from the console in C ?
(A) putchar() (B) getchar()

(C) scanf) (D) gets()
(E) Not attempted

19.

Evaluate : 28% of 450 + 45% of 280.
(A) 201 (B) 252
(C) 254 (D) 356
(E) Not attempted

20.

=

) :Ei

21. What is the reason behind Red soil

developing a reddish colour ?

(A) Over grazing

(B) Due to the presence of high iron
oxide

(C) The presence of potash and
magnesia -

(D) None of these

(E) Not attempted

CG - CH23

17. & T3l 1 3 11 8 3T ITH At 6
et T 9 @ | el i <hi |
(A) 28 3N 16, i
(B) 28 3 17— rg

(C) 25 3R 17 ‘\/\
o)
%ﬁ% (D) 26 3 17

(E) 3rSEmted

18. Y3 UA WA ?

(A)aﬁﬁmﬁﬁﬁa%%ﬁéwﬁﬁﬁmﬁa
H 6l skl |

(B) E TR % frg T I AR
FE e

,(C)%ﬁﬁaswﬁmaﬂﬁﬁﬁgam
F a1ires AR w1 ITHTT H A
BIED

(D) S |t

(E) TS

19. C T HEE ¥ P H Ted & o fhd
G T TN TR ST 8 7
(A) putchar() '(B) getchary()

(C) scanf) (D) gets()
(E) STSRfdd

20. B B : 450 T 28% + 280 Hl 45% |
(A) 201 (B) 252
(C) 254 (D) 356
(E) 3Rk

21. o FE % A BN 1 T HR B ?
(A) iR =E

(B) T HEH S H SRR H BRI
(C) e 3 AefiRrn A ufefa

(D) T 4 i3 &
(E) TSniia \
8 Z‘bﬁ‘ xE
-5- ;gct s A =28 D
ﬁ s\l@ %



22. The sum of 2 numbers is 184. If

one-third of the one exceeds
one-seventh of the other by 8, find

the smaller number.

(A) 64 (B) 76
(C) 84 (D) 72
(E) Not attempted

If a radio is purchased for Rs. 490
and sold for Rs. 465.50, find the loss

percent.
(A) 5%
(C) 6%
(E) Not attempted

23.

(B) 7%
(D) 9%

Which among the following lakes is
located in Rohtak District of Haryana ?

24.

(A) Karna Lake

(B) Brahma Sarovar
(C) Tilyar Lake

(D) Blue Bird Lake
(E) Not attefnpted

What value will replace the question
mark in the following equation ?
1 1 2

1
—4+3=+?+2-=13%
42*%% 3 5

25.

390
pits
o

(A) 1310

2
B) 3%

1
(©€) 3;

(D) None of these

(E) Not attempted

CG - CH23

0o, T3 1AM 184 8 | A TH FH
RS gE o WIS W W 8 I ¢,

a’r@aq@raﬁaﬁ l
(A) 64 (B) 76
(D) 72

afe wH WA 490 TR ° TG S R
31T 465.50 T T = TG &, 1B

gftrerd 1A HITT |
{a) 5%

@é‘“ (C) 6%
(E) STt

24, Trefafaga # 4 wia-dt 3w giamon +
e R dfREg e

(A) ol st

(B) ST &R

(C) Toeam it

(D) = &8 3t

(E) ITEmiéa

23.

(B) 7%
(D) 9%

25. Trrifoied whew § ur g % wm w

 H-HT A S 7

1 1 2
-—6 «3 g 5

ﬁ

75 :
. (a) 13>
(A) 375

45 337

1
(C) SZ

(D) 318 § S 7
(E) 3mmntdg

$X\0
\%);

A6
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26. Complete the following analosy: 26. Frefifiga Toewa @ O R |
Fish : Aquarium :: pPoultry : ——— el Qﬁﬂ'ﬂﬂ G T i A
(A) Farm (B) Shed (A) Lo (B) b
(C) Den (D) None of these (C) = (D) T B H1E T
(E) Not attempted (E) st
27. was the Editorof Haryana’s | 27, zf@mn % T8 HHETR 9=
first newspaper ‘Haryana Jhajjar’. TN 3T 6 FUTGH g |
| (A) Rajaram Shastri (A) TR TRt
(B) Bhagwat Dayal Sharma (B) WA AT YT
(C) Deen Dayal Sharma. . (C) < AT T
(D) Ramacharan Shastri g%%% - (D) THEROT AT
Of-A0
(E) Not attempted (E) STRIE@
28. If2x+3y+z=55x+z-y=4and| 28. Af ox + By +2=55,x +z—y = 4 3M
y — X + z = 12, then what is the value ﬁ@({g\.;g_: 10N zHAA TG ?
‘(’2)7‘ 3 o a9 S (B) 7
©) 5 D) 8 € 5 « APV 8
(E) Not attempted (E) ITria
29. The Karnataka S(t;\te Co-operative 29, FIeH T TEHhH! TquM HewH fafies
Marketing Federation Ltd. plays a et SRt § wgw Y @ 2
major role in supplying . .. n : :
(A) Chemical fertilizers %@j (&)
(B) Agricultural implements [ilﬁll% (B) Tﬁ SEEAU
(C) Pesticides wf (C) hieTrrh
(D) All of the abpve Ll (D) SqUert @t
(E) Not attempted v fatid (E) o
30. Full form of RKVY 30. ITCHAETE 1 T &9 ]
J (A) Rajya Kendra Vikas Yojana o (A) TS <, Torera A
| (B) Rajya Krishi Vikas Yojana (B) TSI HiY forepra A
(C) Rashtriya Krishi Vikas Yojana _(C) Tsfim FN T A
_ (D) None of these (D) T @ 8 &
(E) Not attempted (E) ITrnida
}, ~53 7- &‘mf;‘)%i =53 D
; 0, =
i ) n=t VY <




31. Which among the following is .
considered as the first Haryanvi
language movie ?

(A) Chander Kiran
(B) Dharti

(C) Bahurani

(D) Chandrawal
(E) Not attempted

32. Indiaisthe largest. Country
in the world in terms of area.

A) 5 (B) 7 | %ﬁ@

(E) Not attempted

33. Which of the following is true regarding
Subroutines in a computer program ?

-

(A) Subroutines cannot return a value
to the calling program

(B) Subroutines can only be called
from the main program

(C) Subroutines are used to perform
repetitive tasks in a program

~AP) Subroutines can have their own set
of local variables

(E) Not attempted

34. If the cost price is 96% of the selling
price, then what is the profit percent ?

(B) 4.17%
(D) 5.17%

(A) 6.17%
(C) 3.17%
(E) Not attempted

i .' —
7327 m g
B g = N B

CG - CH2

a1, Frerfen # 2 B8 TR o o
feT T AT 8 7
() <t FFTT
(B) &Rl
(C) =TT
(D) =g
(E) TSR

32. &% % 1.9 WA g =
HH 9T GV § |

—

(4) 5 (B 7
(C) 81 (D) 9=
(E)

33. HYX UM A GEEAH F TR # Frfehe
- AEIH-mrER R 7
(A) FEEA I T H B g
A9Y & T Fehal B

(B) TSI =t hael 76T T A &
it TR ST el 2

(C) et o & Srgaw w1 T BT B
A % 7T GEE=T BT 35T fear
STt 8

(D)Ham#mﬁm%&qaam

B8 e w2
* ®) sRE

O}

34. I T qeH fha = w1 96% 2,
Y T Sfaed T @ 7

(A) 6.17% /B 4.17%
(C) 3.17% .. (D) 5.17%
(E) 3Ty
4 2
SRl N



35.

36.

37.

380

The regulated and controlled
distribution of essential goods among
people

(A) Public Distribution System

(B) National Institute of Agricultural
Marketing

(C) National Co-operative Development
Corporation

(D) Source of Agricultural Credit in
India :

(E) Not attempted

If in a certain language A is coded as
1, B is coded as 2 and so on , how is
BIDDIC coded in that code ?

(A) 394492
(B) 284563

(C) 294493
(D) 375582
(E) Not attempted

Full form of NAIS

(A) National Argliments Institution
Survey .

(B) National Agricultural Insurance
Scheme

(C) National Argument Insurance
Scheme

(D) None of these
(E) Not attempted

=]

E’;}‘t 1

A sum of Rs. 800 amounts to Rs. 920
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

() Rs. 998 (B) Rs. 995

(C) Rs. 992 (D) Rs. 997
(E) Not attempted

35.

36.

37.

38.

-9-

CG - CH23
il 3 e mevas aeg B fbafe
3R e foror

(A) GreetfeR feraor wored!

(B) Tt Ty forwory T

(C) Tt weehrl feremrdr Fme

(D) WA & Hi =60 1

(E) STrRmféd

Ift ws Pt W d Al 1, B 2 3R
Tt a® i fFan S ®, o 3 wie #
BIDDIC ! $& hifsa Fpa1 Sm@m ?

(A) 394492

(B) 284563

~C) 294493
(D) 375582
(E) TR

“TUSTETH T U &9 7

(A) e ATYHEE S wd
(B) ¥ UfreheeRet Seim whm
(©) Feret s $vte whm
(D) T8 & 3 T

(E) 3TSRrierd

800 &9 hY TR FIEROT =1t <hY o W 3 T
H 920 TR B R } | AR =9 XA 3%

- et fea S < a1 ol Rl @ e ?

(A) ®. 998

_(C) ®. 992
(E) vt

(B) ®. 995
(D) %. 997



39. A and B together can complete a piece of

work in 4 days. If A alone can complete

the same work in 12 days, in how many
days can B alone complete that work ?

(A) 5 days (B) 7 days

(C) 8 days
(E) Not attempted

(D) 6 days

40. Transformation of Aspirational

41.

42.

43.

Districts Programme was
announced by

(A) NITI Aayog

(B) Pradhan Mantri Yojana
(C) Atal Pension Yojana

(D) None of these

(E) Not attempted

A cyclist covers a distance of 750 m
in 2 min 30 sec. What is the speed in
km/hr of the cyclist ?

(A) 18 km/hr

(B) 12 km/hr

(C) 13 km/hr

(D) 17 km/hr

(E) Not attempted

IfD =4 and COVER = 63, then
BASIS = ?

((A; 55 (B) 50

C) 49 (D) 54 [EEE
(E) Not attempted g’:gg‘g
Full form of IMRB

(A) Indian Market Research Bureau

(B) International Market Research
Bureayu

(C) Indian Market Rural Business
(D) None of these
(E) Not attempteq

39.

40.

41.

CG - CHZQ

AaﬂTBﬁWﬁ*ﬁmﬁc}ﬁﬁﬁ
m%mﬁA:m:ﬂﬁmﬁmgﬁq’;
wﬁm%yﬁBmwmﬁm
fortl 3 R FHATY

(a) 5T (B) 7 fy

() 8fe D) 6fw

(E)
mmﬁﬁﬂqﬁaﬁqﬂﬂﬁmﬁm
BT 6 TS oft |

(a) i S

(B) T IS

(C) e YIA A

(D) T & IS &

(E) ST9fda

T Hifhat HaR 2 e 30 Yehe 1 750 iy

6 gt 7 @ g, o Arslee TR A
fEf/faa d w2 2

—(8) 18 Tt /e

42.

43.

-10-

(B) 12 frrft/ger
(C) 13 foft /ey
(D) 17 foft /ey
(E) TR

. 5
7R D = 4 3¢ 80%1‘3 = 63, ????B\Aﬁs'(ljsj= ?
(A) S5 —B) 50
(C) 49 (D) 54
(E) T

STTASATER it qof g 2
(4) 3T M faet =)
(B) ST mrdhe et sy
(C) 3T urhe = fow
(D) 8 & ¢ et |
(E) TR

-Qi ek
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44.

45.

46.

47.

Hisar Airport of Haryana is formally
known as _____ International Airport.

(A) Daya Ram

(B) Maharaja Agrasen
(C) Bhagat Singh

(D) Pandit Neki Ram
(E) Not attempted

The largest Delta of the world is

(B) Ganga %ﬁ
(D) Nile

(A) Mississippi
(C) Sunderbans
(E) Not attempted

X introduces Y saying, “He is the
husband of the grand daughter of the
father of my father”. How is Y related
toX?

(A) Son in law

(B) Son

(C) Brother

(D) Brother in law.
(E) Not attempted =~

Find the average of all prime numbers
between 30 and 50.

(A) 38.8 (B) 49.8
(C) 59.8 (D) 39.8

. (E) Not attempted

48.

Doordarshan Kendra, the only
Programme Productiqn Center at
Haryana is at this place

" (A) Hisar

(B) Gurugram
(C) Ambala AIETEEsy
(D) Yamunanagar (i@ -

~ (E) Not attempted , |

-11-
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44. ghEmn % fygr TS IR F N
WA aiqdsda g I8 w9 H
ST S R |
(A) < ™
(B) HERIST 1A
(C) wa Tz
(D) ufea AhR™
(E) 3mrnfa

T4 =1 gl w= S
INRLIIE

(C) e
(E) TS

X Yy)& aR=E T g e, “Te At fa

* ﬁmﬁq\?ﬁmwﬁf%”wwxﬁwj_'
HEY g 7 '

(A) TG ’%@ j
(B) S

(C) T

AD) &S

(E) TSR

30 3R 50 % = ot A=Y TEn3t w1
3liea 9 HivT |
(A) 38.8

(C) 59.8

(E) TSR

gfaom St wehur wrEiswn fai 5,
T b e R W RE R 7
a) TER

(B) T ook |
% (C) IfaTen 7 ke
(D) IR \
(E) It (57';'\

45,

46.

47.

(B) 49.8
(D) 39.8

48.



49.

50.

51.

(A) Beachj
-(C) Sandbar

52.

53.

is the first woman in India who .
has won Olympic medal in wrestling.

(A) Sangeeta Phogat
(B) Sakshi Malik
(C) Babita Phogat
(D) Geeta Phogat
(E) Not attempted

Which is the number that comes next
in the sequence ?

0, 6, 24, 60, 120, 210, ? i
(A) 504 (B) 290 GiE
(C) 240 (D) 336

(E) Not attempted

A deposition of sand which results in

a long, narrow embankment in the
sea near the coast is called

(B) Lagoon
(D) Latitude
(E) Not attempted

Who among the following famous
personalities is often known as “Gandhi
of Haryana” ? (15473

(A) Babu Mool Chand Jain

(B) Dharam Singh Hayatpur

(C) Sir Chotu Ram

(D) Rao Tula Ram

(E) Not attempted

What is an instruction code in |
computer architecture ? |

(A) Asetofinstructions used toprogram || -

a computer ‘ I
(B) A type of machine language usedg
by computers g )
(C) A code. used to represent the
operations performed by a
Central Processing Unit (CPU)
(D) All of the above %E%a
(E) Not attempted @,g.-.ﬁfj

L P
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49.

50.

51.

52.

S3.

(®) FA
\#m%m FE-H R g
%ﬁo,- 120, 210, ?

A) 504 (B) 290 122

((C; 240 . (D) 336 @

(E) I |

1 1 AT FEsh TROTAREEY @ % 1
© gy B TH T, WHU qEHY T T ¢,

(a) d=r (B) T

(€) ¥ W (D) Afezgg

(E) 3TSRMRE

g Bl § A Rl s gham §
M % w9 F T e R 7

(A) ST Tereg S

(B) & g gamaq

C) WM g

D) T e g



54. Find the H.C.F. of 108, 288 and 360.

EIATE

(A) 36 (B) 28

() 30 (D) 26

(E) Not attempted

55.
the earth is known as

(B) Sima
(D) Sial

(A) Igneous
-(C) Earth crust
(E) Not attempted

The two general categories of crop

insurance are called

(A) Crop-yield insurance and crop-
revenue insurance

(B) Crop-price insurance and crop
revenue insurance

56.

(C) Crop-price insurance and crop
insurance

(D) None of the above
(E) Not attempted -

Which of the following is true about
passing an array to a function in Cc?

57.
(A) Only the last element of the array
is passed to the functlon

(B) The entire array is passed to the
— . '
function by value

(C) The entire array is passed to the
function by reference

(D) iny the first element of the array
is passed to the function

(E) Not attempted
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The outermost solid cover Or shell_of

CG - CH23

54. 108, 288 3flt 360 1 HEH BRIRCRED
(Tardius) 7 HINT |
AA) 36 (B) 28
(C) 30 (D) 26
(E) stmmfE

55. w%ma@mmmﬁﬁ
. wRImE |
(A) I (B)
(©) a1 FE ﬁﬂm ’E
(E) STSRTRIA -

56. weﬂmﬁaméﬁﬁﬁ
gl STl @ |
(A) wa-maﬁmaﬁtw—waﬁm
.(B) ®HA-H¢H ST ﬁtwwaﬁm
(C) FEA-e ST SR HET AT
(D) I & | IS A
(E) TSR

57. C1 T bR ¥ T @ T FA
A PR T d F-Tradt 2 ?
(A) T F Fae IARW T HRE & o7
ure feRem ST B
(B) Tl I Hae & e Fe g
o g e ST -
BEL () vt Y e % R wed g0
g e S @

(D) T T et TG e B & (T8
e T S @

E) s
e

QOTS

\W‘%



58.

59.

60.

61.

ijs the most important and

—-epread category. It covers 40% of
t“t?g f:ﬁd area. In fact the entire Northern

Plains are made up of these soils,
(A) Alluvial soil (B) Red soil

(C) Black soil (D) Laterite soil
(E) Not attempted

Which of the following diagram
correctly represents Elephants,
Wolves, Animals ?

=
M
[

40

(E) Not attempted

Pointing out to a photograph, a man
tells his friend, “she is the daughter of
the only son of my father’s wife”. How
is the girl in the photograph related to

CG - CH23

sg! /Wﬁﬂﬂﬁ@faﬂtm%ﬁ%l
@40%‘1{\&[ & Wit ] |3TRl'q'ﬁ1m

ot e TRl At A =T R |

() v BEt (B) W

() Fett g (D) Jeuse B
() oI

Prferfiad @ F-T1 sTE TR,
e, T 1 TE NfaFTE @ 8 7

59.

T T ht 3R =10 A gU, T
JATEHT 319 Qe § e & 7 “ag |

60.

Zl;;: glaix ? EHE €9 R 7

ister (B) Cousin (A) §&T (B) <=l W&
(C) Daughter (D) Mother +€) <& (D) =t
(E) Not attempteq (E) R

Which museum hag peen built to
protect artifacts from the Indus Valley

Civilization ?

(A) Banawali museyy,

(B) Mohenjodaro musey,y,
(C) Harappé museum

(D) Rakhigarhi muséum

(E) Not attempted

61. Ty =Tt v i el # gilE W
% ToTe -1 doee SR T R 2

(A) =HTa duge™
(B) Wigilce! HIEe™
(C) TSoN HuRe™

(D) TGt TugTerd
(E) i@
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62. g&ﬁ&gfbt;% fgllowing number is
(A) 541326

(B) 1111

(C) 5967013

(D) None of these

(E) Not attempted

63. is the most widespread
form of advertising and is the favourite
of the Indian rural masses.
(A) Folk media
(B) Wall painting
(C) Magic shows
(D) None of the above
(E) Not attempted

64. During this year, seat of Punjab High
Court shifted to Chandigarh
(A) 1968
(B) 1958
(C) 1955
(D) 1965
(E) Not attempted

65. If+ means /,—means ¥,/ means+ and
* means —, then
36*12+4/6+2-3 =7
(A) 2
(B) 42
(C) 18
(D) None of the above
(E) Not attempted

66. Where is the Niagarad river found ?

(A) North—America(B) India
(C) Japan (D) Australia

(E) Not attempted

62.

63.

64.

65.

CG - CH23

Perffer it § - gem 3 T R ¢
(A) 541326°

(B) 1111:(\

(C) 5967013 X

(D) 37 @ g T

(E) 3TsRmRa

e R ST T3
sl TiTeftor S <6t e @ |

(A) i Hife

(B) st gfem

(C) A =M

(D) I # & Hi§ T

(E) TSt

e B 1| [ | AR AL [ 4 g
¥ ¥ e AR §8 ?

(A) 1968 g

(B) 1958 '

(C) 1955

(D) 1965

(E) ITRITE

i + w1 3wt /, — % e x, [ + 3
« 1 3f -,

36*12+4/6+2-3 = ?

@2

*=(B) 42
—

(C) 18
(D) Sg & & IS T
(E) ST

66. T T e Ui Sl @ ?

(A) Sa-amfenr  (B) W@
(C) ST (D) vegferan
(E) STHRIRM

D

c— 62 g
3 ,W+gxz
2¢-3%% . %




67. Which of the following is the correct

syntax for using malloc() to allocate
memory for an integer variable

(A) malloc(2 * sizeof(int))_ .
(B) malloc(sizeof(int*))

(C) malloc(sizeof(int))

(D) malloc(sizeof(int)) * 2

%El

E“E‘El

(E) Not attempted

68. Find the L.C.M. of 72, 108 and 2100.
(A) 37500
(B) 37600
(C) 37800 g\
(D) 37400 h { fl
(E) Not attempted Q < L0° |.
69. What is the LOOK disk sch@

algorithm ?

(A) A disk scheduling algorithm that
services requests in one direction
until there are no more requests in
that direction, and then reverses
direction and services requests in
the other direction

(B) A disk scheduling algorithm that
services requests that are closest
to the current position of the disk
arm, and changes direction when
there are no more requests in that
direction

(C) A disk scheduling algorithm that
services the request that requires

the shortest rotational delay
(D) None of the above
(E) Not attempted
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e e e e ey
-, BEAN aad

o7 et O AT I A A gy
@Y maﬂocoa:r:mzﬁnwﬁ%wQ ;‘
e f @ BT Rdvm @ R 2,
(A) malloc(2 * sizeof(int))

_(B) malloc(sizeof(int*))
(C) malloc(sizeof(int))
(D) malloc(sizeof(int)) * 2

72,108 31X 2100 1 YA FHTTH
(uereiien) T T |
A) 37500 S
(B) 37600
(C) 37800
(D) 37400
(E) ST M -

=1
69. T& (LOOK) %@BWM

() T ok sl ueliign S U@
oz @ a9 a6 SO W QU a1 B
9 e 39 foun A I3 3R 3y 7
&, 3 R fown seest gudt foum &
AT <1 T T B

(B) T feweh Aesqier Teriiitew S fewep o
6 e fIfd < we) i 5 gt
I QU T 7, 3R 39 feam § #E 3l

68.

(C) T T eeffem Tomiten St IieR
Poff foele & enfdm sy = @@

0 7 2R R wewt d

T B
(D) S # A B 7
(E) TSR

v

WOy,

Pt

%@4/ / §} I

i



crust. layer ljes below the

(A) Mantle

(B) Rocks

(C) Core

(D) None of these

- 70.

(E) Not attempted

Shivalik hills are not found in which

among the following districts of
Haryana ? | ¥

(A) Ambala

71.

(B) Yamunanagar
(C) Sirsa

(D) Panchkula
(E) Not attempted

Find the largest number which divides
62, 132 and 237 to leave the same

remainder in each case.

72.

(a) 39 B) 35 s
EIEEE
(C) 34 (D) 37

(E) Not attempted

73. A deep and narrow valley with steep

sides is called a

(A) V-shaped valley
(B) Delta

(C) Gorge

(D) All of the above

CG - CH23

70. _  qrwediaRadd

(A) Fem

(B) wrgr

(C) ®R

(D) 51 &/ I3 &l
(E) STsrnida

s it ghaon 3 Freffed J |
T Rt 3 i g ot € 7

(A) =TT~
(B) I
(c) T,

(D) Y=Hl.
(E) STRnta

71.

(L]

72. Hawﬁasﬁd@rmﬁmﬁa@t

62, 132 3iR 237 i FIRE FW | %k
R A e A | e
) 39 (B) 35 6‘L’5’:’){‘;,fmi
(C) 34 (D) 37 D=
(E) I
73, dder fHR A TEd 3ii bt wdt
gl 8 |
) HFi-aTHR T
(B) S
(C) TSt
(D) ST aft
(E) ITRRIa

(E) Not attempted
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74. Which of the following statements

75.

76.

is true about inter-function
communication ?

- éa_mﬂmﬁ%m%aﬁﬁﬁmﬁﬁ
QRS L ik i

A) - YR AT S Wi

ter-function communicatig . ‘
®) (I:r;; only be done between " RIS TEE] & o= e s BETIRS
functions that are defined in the . :
same file (B) -HHH FRHIE, HHEE & @iy
B) Inter-function communication A HEE
5 refers to the use of function ST AT o1 . T 3
arguments and return values et 95 % ST st Geffa T R
to pass information between .
Ifu tI:1 Ctl;ms tion communi © éa_w Wﬁ%ﬂq ?:F{ﬁ%%*l’?g; f%iﬁ% aﬁ;
C) Inter-tunction unication
i refers to the use of global ) ESi )l tmi{ =
variables to pass information g@ ITNT Y Gehid T @
between functions | B . o .
(D) Inter-function communication is ’ (D) SR Tt e | EAGE TN

not possible in most programming
languages

(E) Not attempted

Find out the missing number in the
following sequence.

1,3,3,6,7,9,?, 12, 21

(A) 13

(B) 11

(C) 10

(D) 12 Oy

(E) Not attempted ]
During the first World War, of

Ambala district in Haryana was one of
the architects of the Ghadar party in
San Francisco.

(A) Deen Dayal Sharma
(B) Teeku Ram

(C) Neki Ram

(D) Kanshi Ram

(E) Not attempted

FRIHIA 9T & 8
(E) A9fad

75. T=RkRaa 313 o O T@ 1 iR |
AA) 13 T -

(B) 11

(C) 10

(D) 12

(E) 3afa
76. TUH T g % e, shem % teren Ry
%‘ﬂ?mfﬁa{m%a@ﬁ
AT Y |

(A) < <o st
(B) dig m
(C) +hi 1w
(D) =isft 1w
(E) STSnfia
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o,

4 IZfCl)Iz}sIc\:/(i;e’ ALTERED is written as
EEAT » then in the same code,
) ED would be written as

(A) VIOUYGM
(B) IVOZGWV
(C) IVOZGVwW
(D) IVOJKHM
(E) Not attempted

78. Classification of rural markets
(A) Consumer market
(B) Services market
(C) Industrial market
(D) All of the above
(E) Not attempted

mark in the following equation ?
8597 — ? = 7429 — 4358
(A) 5258 (B) 5526

(C) 5528 (D) 5256
(E) Not attempted

80, This district of Haryana has least
number of Gram Panchayats

(A) Faridabad

(B) Panipat mg
(C) Gurugram ER

(D) Mahendragarh
(E) Not attempted

81, How many terms ar¢ there in

2, 4, 8, 16, ..., 10247

(4) 12 (B) 8
(C) 5 (D) 10

(E) Not attempted

-19-
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77. AR ws g i ALTERED FI ZOGVIYW
R s 2, 6 3 A1 # RELATED 1
&VO foan ST |
(A) VIOUYGM

. (B) IVOZGWV
%g%d@rwozgv.w o
(D) IVOJKHM

(E) TSt

78. T SR} <1 SR
(A) SuHiERT IS
(B) HaT 9N
(C) M= SN
(D) ITert |t
(E) 3TSRIRd

[=]

<

79. What value will replace the question 79, Trefafea wHET 1wy T & WH W

PH-GT 7 AT 7
8597 — ? = 7429 — 4358

(A) 5258 ABJ 5526
(C) 5528 (D) 5256
(E) STRItHa

go. e % frw fret # T H 7MW
TR 7

A) e
(B) HITa
(C) T=IH o
(D) TESTE <t 5!
@) sERE o
g1. 2,4 8, 16?:.., 1024 # fFaR ug @ 7
(A) 12 (B) 8
(C S ((5) 10
(E) ST
7489 D
_ M sy



82. Whatis a dependent statement in
programming ? .
(A) A statement that is used to define
a variable

(B) A statement that depends on the

~" execution of other statements in
the program _

C) A statement that executes

independentlyof other-

statements in the program

(D) A statement that is only executed
under specific conditions

(E) Not attempted

How many number of times, President
Rule was imposed on Haryana ?

(4) 4

(B) 2

© 1

(D) 3

(E) Not attempted

83.

What value will replace the question
mark in the following equation ?

? - 1936248 = 1635773

84.

(A) 3458690

B) 20

o s 18
Eh

(D) 1936248 f

(E) Not attempted

85. What is rotational delay ?

“* fA) The time required for the disk arm
to move to the correct track

(B) The time required for the disk
controller to process a disk request

/(C) The time required for the disk to
rotate to the correct sector -

(D) None of the above
(E) Not attempted

CG - CH23

o 3 e Relle A Aar ® ?
82 7 e eeiic N el Afteerer 1 vy
FQ % e sy e s @

o Ve S T H I Rl

Proared T it e 8

S Seie I Tum F 3 Vel §

B O 2 from e 2
Frsqrfed T 8

(A)

(B)

84. Trfeaa gxfietor § 9y fug & WM |
9T I BT 7
? - 1936248 = 1635773
(A) 3458690
(B) 2021357
@) 3572021

(D) 1936248
(E) STt

85, YUfi e w2 ?

(4) Tom ami =t 7t ¢ wem % fo
i T

(B) T Iy = wEilRa =@ % fag
o= T g anifée o

(€) foor = v Y ¥ gAm & forw
i wa

(D) ST # | IS T

(E) 3nrnfEa ; gQ\ Q‘\%

[N

o\
{73 -20- . \,
w PSR,
s : . .y s "\g ,r}OD//




37.

90.

In a certain code, SIKKIM is written as

THLJJL. How is T . f
that code ? RAINING written in

(A) SQRSGREE
(B) SDHMLHJI
(C) UQBHOHOF
(D) None of these
(E) Not attempted

National Agricultural Co-operative
Marketing Federation (NAFED) was
established on

(A) 27¢ October 1956
(B) 2"¢October 1985
(C) 27 October 1958
(D) 27¢ September 1958
(E) Not attempted

Expressway of Haryana is
the longest 6 lane flyover in India.

(A) Kurukshetra
(B) Chandigarh
(C) Ambala

(D) Panipat

(E) Not attempted

m
ElzesE

An aeroplane flies along the four sides
of a square at the speeds of 200, 400,
600 and 800 km/hr. Find the average
speed of the plane around the field.
(A) 564 km/hr (B) 384 km/hr

(C) 765 km/hr (D) 444 km/hr

v g w9
86. wh P @z § SIKKIM - THLJJIL foran
SR 8, A TRAIN]NG 1 I feran ST 7
(A) SQRSGREE
(B) SDHMLHJI
maE T USAOHOR
SRR (D) T 2w T

(E) i
87. Uy iy wewrl oo €9 (NAFED) %1
AT o <h S oft |

_(A) 2 3Tag=R 1956
< (B) 2 3TFST 1985
~(C) 2 AT 1958
~(D) 2 fodst 1958
R(E) As=Tid
e TweEa WRa # 3 9
T T T ST 6 O FensSET @ |
(A) Fo&A
(B) =E€rTE
(C) ST
(D) T — <
(E) TSRt
go. TH fmm= Wk = F =’ 3 200, 400,
600 31T 800 fFft/=ier < ifq & I=a1 3,
a1 fe™ 3 =9/ 3R o= i sima wfa s
Hifa |
_p) 564 fpfi/ger  (B) 384 fdi/wat
(©) 765 FFfi/der (D) 444 Redt/se

88.

Pl

TR .

(E) Not attempted (E) (@@ “ .
divisible | 90. 12,15, 20 27 T e

Find the least aumber exactly
by 12, 15, 20 and 27. el Tl B A ¥ KN |
(A) 240 (B) 540 AN 280 . .-{B) 540
C) 440 (D) 340 JAC) 230  pdD) 340
) (E) =iy

(E) Not attempted

e \%’q
D \é,<5" -21-

22— D

% ni:!' o-°
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91. Complete the following analogy.
Hen : Pullet : : Kangaroo :

English Language

(A) Joey B) &
(B) Calf (c) e
(C) Cub (D) FTIEE
o) Not attempted (B) ¥
(E) Not attempte ,
92. How many tenses are there in English A) FTHIL
Grammar ? AA) Téﬂ'q
A) 8 (@ AB)
(B) 2 o ©
() 4 FJ% (D) IR GE
AD) 3 B (g) ST
(E) Not attempted
93. Choose the correctly spelt word. 8. R ,;ﬁ ﬁ;a_i;% ?qﬁm
_AA) Farewell % TG o T lilgail T
(B) Fairwaly. ~A) 9¥ 1909
(C) FairwellX (B) @¥ 1903
(D) Fairwelo (C) =¥ 1900
(E) Not attempted (D) =¥ 1906
94. Complete the following analogy. (E) Inrnfda
Faith : Doubt : : Enjoy :
(A) Suffer ¥ 99. IE vy ¥ g swm 1 0
~B) Sad - BIAT ?
0 pain e (A) e
(D) Happ a TRt oreerft
(E) Not attempted (E(B;; %ETﬁ
95. Complete the following analogy. (D) aT'Fﬂ
Full : Empty : : Pride : (E) wenfg
_(A) Denounce
(B) Dissuade 100. %"fﬁ b T F fpar e B 7
(C) Defendant [A) 2 (B) 3
(D) Humanity é} (©) 1
(E) Not attempted (E) (D) 4
ssat

(=) a8 %



